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N} =N/n=20 KN

N, =V/n=15 KN

. o o\ T77500° 200 _
NM =M xyl/ (m v?)= + 1007 = 2007) =775 KN

|, =400mm 15d, =323 mm b =0.976

N, =N +NY =77.5+20=97.5KN 0.8P
=0.8" 155=124KN



N2 =b>0.9n,m{P- 1.25N,)

=0.976" 09" 1" 0.45" (155- 1.25" 97.5)
» 13.1KN
N, =15KN N_
12 80mm

N;Y = N/n=200/12»16.7 KN

NY =V/n=150/12=125 KN

» 69.2 KN

. o ,\___ T7500" 200
Ni =M ><yl/(ma )= 4" (40% +120% + 200°)

N, =N +NY =69.2+16.7 = 85.9KN
N2 = b >0.9n,n{P- 1.25N,,)

=0.976" 09" 1" 045" (155- 1.25" 69.2)
» 27.1KN

N, =125KN N;



